—BEFER

10B 1~4R 1tyb2vF

178 QF 1&ybIvF SFF 3tybIvyFI74FILEYbA-N=447'L-910R1>+

—_— 17 BE B F—LbLHL

—— 20 £ EBEE JLRNSTF

— 21 BRIE KB 71—

—— 24 [E EEEHFE SINL—T

[ERES 4>a—TC

H

st

—— 27 Hff 3 Rh=H R

64

28 JE#A E—ER MYTC

— 29 BB B R =P

NO-1
1 GE HE 7AYRRR-Y ——
1R 8:00
2R 8:30
SRR L[
. 60 61
3 BRI HE -5 —
B
W, 0
4 HBKRK BR Z2X¥TC ——
SRR ik
61 64
FHH [ &p
64 64
. pE
8  JhH &N Rh=HR  —
SEIRS =
. _ w.0 61 61
9 Hk BB ENMEREE —
ik S
61 61
12 D B I —T —
R =
X N 63 64
13 FE B2 FILR—Y )L —
=32
63
14 E@A BER V] S—
R |E
61 63
16 R 1&& Y—SEE
NO.1 R ML NO.2

SF wl Rt AN J—

AR—Y

75.62

— 32 A WishTC

B #E  GEREER




— B FARE

1R 8:00
38 SHIFERE ENEER — 49 IO REA NWTC
2R 8:30
=] g
W, 0 61 . R
—— 51 ®HJIl BE FILR=F)L
lEiE
63
36 T BN TEEN  —— —— 52 ER TtE e
=i nn
63 76(4)
31 Rk MM RE=ZHR  —
ik
W, O
38 R XK TAKE —
ik NN
62 62
=i
49 FHH & EAIBLTC
=] ] (=]
W, 0 60 41
41 fREA f#— FHRR  —— Ret
62 62
43 WA FHH JASDF ———
g1y
> 63 —
44 IV TvH Ara—-TC — —— 60 HFf ;TR Ava—TC
#RH &S
62 61
45 LA BX oTC — —— 61 jH/K F=ad Rh=H R
&K
63 .
—— 62 A RF 24—
LA bi-s: ]
48 fNEE K E1a o — 64 JEE BEA 0SG
NO.1 / NO.2 EE L NO.3 / NO.4
w6 gt AW J— hill 8 WishTC

AK=Y

62.64




— B FARE

1R 8:00
65 JNEREE#h MYTC — ——— — 81 AL # 0OSG
2R 8:30
P} AW
61 62
— 83 FILUEER EHER
R
62
68 =iE K— FRETC —— 84 AU ZEFEIT (>a—TC
R A
o ) 61 63
69 B =H I —T — — 85 HMH BK TAURYY
Ak R
W.0 61
il
72 KH ER ZHEIEE — —— 88 |UA ZEL  BEALTC
il AW
. 75 75 63
3 BB FK AR —— —— 89 25 m | STSS
=% Bo
63 62
—— 91 FTF BE SH#HI5VY
K
62 .
76 Rk K& Rh=HR — —— 92 FK it AXFTC
dl 10
. 80 61 _
77 KF EE FINR—T I —— — 93 I EX EFMTC
Bk
64
78 HEE = FHORR  —
dl 10
61 62
No.3 dil] & NO.4
SF il & WishTC J— WA 5= TAVRYY

76.62.76Ret




— B FARE

97 RE I RIETC

100 FH0O

Mg 71—

101 i EX FHIRR

104 {E£FF EABLTC

4>a—TC

105 3R #E

108 $HiK I8 SHITIL ——
100 FEME T T)—  —

1R 8:00
— 113 =38 A EMATIL
2R 8:30
RE =
61 60
—— 116 [AF B TU—2R—k
RE =
60 64 N
—— 117 HmAK 8 Rh=H2
PN
62
— 118 5K B MYTC
g BH
i .
—— 120 {EH E =t 3
KR & IR &
63 75 75
— 121 [UFY {BEE FHRTC
—— 122 HA B AXFTC
PN WR
76(5) 76(5)
— 124 FHR BE H—5RR—Y
KR 1T
61 61
—— 125 %#f HEIR A=AV R
®ik
76(3)
—— 126 %k BEX 7y—
KR 1T

112 KR &

60

62

LA B

—— 128 TAURHY



